# Some Tauberian Remainder Theorems for Hölder Summability 

Ümit Totur and Muhammet Ali Okur

Adnan Menderes University, Department of Mathematics 09010 Aydın, Turkey<br>E-mail(corresp.): utotur@adu.edu.tr; utotur@yahoo.com<br>E-mail: mali.okur@adu.edu.tr; mali.okur2@gmail.com

Received April 22, 2014; revised January 4, 2015; published online March 15, 2015


#### Abstract

In this paper, we prove some Tauberian remainder theorems that generalize the results given by Meronen and Tammeraid [Math. Model. Anal., 18(1):97102, 2013] for Hölder summability method using the notion of the general control modulo of the oscillatory behaviour of nonnegative integer order. Keywords: Tauberian remainder theorem, $\lambda$-bounded series, general control modulo, Hölder summability.


AMS Subject Classification: 40E05; 40G05.

## 1 Introduction

Let $u=\left(u_{n}\right)$ be a sequence of real numbers. Throughout this paper, the symbol $u_{n}=O(1)$ means that $\left(u_{n}\right)$ is bounded for large enough $n$. The sequence of the backward differences of $\left(u_{n}\right)$ is denoted by $\left(\Delta u_{n}\right)$, where $\Delta u_{n}=u_{n}-u_{n-1}$ for $n \geq 1$, and $\Delta u_{0}=u_{0}$ for $n=0$.

For a sequence $\left(u_{n}\right)$,

$$
\begin{equation*}
u_{n}-\sigma_{n}^{(1)}(u)=V_{n}^{(0)}(\Delta u), \tag{1.1}
\end{equation*}
$$

where $\sigma_{n}^{(1)}(u)=\frac{1}{n+1} \sum_{k=0}^{n} u_{k}$ and $V_{n}^{(0)}(\Delta u)=\frac{1}{n+1} \sum_{k=0}^{n} k \Delta u_{k}$. The identity (1.1) is called Kronecker identity.

Let the sequence $V^{(m)}(\Delta u)=\left(V_{n}^{(m)}(\Delta u)\right)$ be defined as follows: For each integer $m \geq 1$ and for all nonnegative integers $n$,

$$
V_{n}^{(m)}(\Delta u)=\sigma_{n}^{(1)}\left(V^{(m-1)}(\Delta u)\right) .
$$

The classical control modulo of the oscillatory behaviour of $\left(u_{n}\right)$ is denoted by $\omega_{n}^{(0)}(u)=n \Delta u_{n}$. The general control modulo of the oscillatory behaviour of integer order $m \geq 1$ of a sequence $\left(u_{n}\right)$ is defined in [9] by

$$
\omega_{n}^{(m)}(u)=\omega_{n}^{(m-1)}(u)-\sigma_{n}^{(1)}\left(\omega^{(m-1)}(u)\right) .
$$

Notice that the notion of the general control modulo of the oscillatory behavior of integer order $m \geq 1$ of a sequence $\left(u_{n}\right)$ is a generalization of the classical control modulo of $\left(u_{n}\right)$. For instance, if the sequence $\left(\omega_{n}^{(0)}(u)\right)$ is bounded then the sequence $\left(\omega_{n}^{(1)}(u)\right)$ is bounded from the definition of general control modulo. However, boundedness of the sequence $\left(\omega_{n}^{(1)}(u)\right)$ does not imply boundedness of the sequence $\left(\omega_{n}^{(0)}(u)\right)$. For example, if we take the sequence $\left(\omega_{n}^{(1)}(u)\right)$ as a constant sequence, then $\left(\omega_{n}^{(0)}(u)\right)$ is not bounded.

The concept of general control modulo of the oscillatory behavior of a sequence is used in some articles $[6,7,8,20]$ in Tauberian theory. Actually, Çanak and Dik [6] obtained some Tauberian conditions in terms of the general control modulo of integer order to retrieve subsequential convergence of $\left(u_{n}\right)$ from the boundedness of $\left(u_{n}\right)$. Çanak and Totur [7] gave some sufficient conditions for the usual convergence and subsequential convergence of regularly generated sequences. Çanak and Totur [8] proved a Tauberian theorem for Cesàro summability methods, and Totur and Dik [20] gave some one-sided Tauberian conditions for a general summability method using the general control modulo of integer order. Moreover, various Tauberian theorems have been demonstrated by Çanak $[1,2,3,4]$ and Çanak et al. [10].

Summability theory and Tauberian theorems have been applied to the sequence of fuzzy real numbers. In the recent papers, some results have been obtained for Nörlund and Riesz summability methods of sequences of fuzzy real numbers (see [5,21]).

A sequence $\left(u_{n}\right)$ is said to be $(C, 1)$ summable to $s$ if the limit

$$
\lim _{n \rightarrow \infty} \sigma_{n}^{(1)}(u)=s
$$

exists.
The Hölder means of integer order of a sequence $\left(u_{n}\right)$ are defined by

$$
\sigma_{n}^{(k)}(u)= \begin{cases}\frac{1}{n+1} \sum_{j=0}^{n} \sigma_{j}^{(k-1)}(u), & k \geq 1 \\ u_{n}, & k=0\end{cases}
$$

for each integer $k \geq 0$ and for all nonnegative integers $n$ and the sequence ( $u_{n}$ ) is said to be Hölder, in short $(H, k)$ summable to $s$ if the limit

$$
\lim _{n \rightarrow \infty} \sigma_{n}^{(k)}(u)=s
$$

exists. It can be verified that $(H, 0)$ summable of $\left(u_{n}\right)$ means that $\left(u_{n}\right)$ converges ordinary, and the $(H, 1)$ method of summability is equivalent to the $(C, 1)$ method of summability.

The Hölder summability method is regular, more generally, if a sequence $\left(u_{n}\right)$ is $(H, k)$ summable to $s$, where $k \geq 0$ and $k^{\prime}>k$ for integer $k, k^{\prime}$, then $\left(u_{n}\right)$ is also $\left(H, k^{\prime}\right)$ summable to $s$. However, the converse is not necessarily true. For example, the sequence $\left(u_{n}\right)=\left(\sum_{j=0}^{n}(j+1)(-1)^{j}\right)$ is not $(H, 1)$ summable, but

$$
\lim _{n \rightarrow \infty} \sigma_{n}^{(2)}(u)=\frac{1}{n+1} \sum_{i=0}^{n} \sigma_{i}^{(1)}(u)=\frac{1}{4}
$$

Let $\lambda=\left(\lambda_{n}\right)$ be a nondecreasing sequence of positive numbers such that $\lambda_{n} \rightarrow \infty$. A sequence $\left(u_{n}\right)$ is called bounded with the rapidity $\left(\lambda_{n}\right)$ (in short $\lambda$-bounded), if

$$
\lambda_{n}\left(u_{n}-s\right)=O(1)
$$

with $\lim _{n \rightarrow \infty} u_{n}=s$. Let

$$
m^{\lambda}=\left\{u=\left(u_{n}\right) \mid \lim _{n \rightarrow \infty} u_{n}=s \text { and } \lambda_{n}\left(u_{n}-s\right)=O(1)\right\} .
$$

A sequence $\left(u_{n}\right)$ is called $\lambda$-bounded by $(H, k)$ method of summability, if

$$
\lambda_{n}\left(\sigma_{n}^{(k)}(u)-s\right)=O(1)
$$

with $\lim _{n \rightarrow \infty} \sigma_{n}^{(k)}(u)=s$. Shortly, we write $u \in\left((H, k), m^{\lambda}\right)$.
It is known that a $\lambda$-bounded sequence is also $\lambda$-bounded by $(H, k)$ method of summability. An example can be constructed to show that $\lambda$-boundedness by $(H, k)$ method is not sufficient for $\lambda$-boundedness of a sequence. Let $\left(u_{n}\right)=$ $\left(\sum_{k=0}^{n}(-1)^{k}\right), \lambda_{n}=n+1$. Therefore $\lim _{n \rightarrow \infty} \sigma_{n}^{(1)}(u)=\frac{1}{2}$ and we have $\lambda_{n}\left(\sigma_{n}^{(1)}(u)-\frac{1}{2}\right)=O(1)$. That means $u \in\left((H, 1), m^{\lambda}\right)$. However the sequence $\left(\sum_{k=0}^{n}(-1)^{k}\right)$ is not convergent and this implies that $u \notin m^{\lambda}$.
G. Kangro [11] introduced the concepts of Tauberian remainder theorems using summability with given rapidity $\lambda$. Tammeraid [18] introduced the concept of $\lambda$-convergent sequence, and showed the relationship between some spaces of $\lambda$-convergent sequences. Tammeraid $[17,19]$ proved some Tauberian remainder theorems for several summability method, such as Cesàro, Hölder, Euler-Knopp methods. Moreover, a number of authors represented some Tauberian remainder theorems (see [12, 13, 14]). Recently, Sezer and Çanak [16] have obtained several Tauberian remainder theorems for the weighted mean method of summability using the weighted general control modulo of integer order 1 and 2.

Meronen and Tammeraid [15] proved the following Tauberian remainder theorems:

Theorem 1. Let the condition

$$
\lambda_{n} V_{n}^{(0)}(\Delta u)=O(1)
$$

is satisfied. If $u \in\left((H, 1), m^{\lambda}\right)$, then $u \in m^{\lambda}$.
Theorem 2. Let the conditions

$$
\lambda_{n} \omega_{n}^{(0)}(u)=O(1), \quad \lambda_{n} \omega_{n}^{(2)}(u)=O(1), \quad \lambda_{n}\left(\sigma_{n}^{(2)}(u)-s\right)=O(1)
$$

are satisfied. If $u \in\left((H, 1), m^{\lambda}\right)$, then $u \in m^{\lambda}$.
In this paper, we generalize Theorem 1 and Theorem 2 given by Meronen and Tammeraid [15] to Tauberian remainder theorems for $(H, k)$ summability method. In our results, we use general control modulo order any integer $m \geq 0$ of the sequence $\left(u_{n}\right)$.

## 2 Preliminary Results

We need the following lemma to be used in the proofs of main theorems.

Lemma 1. For each integer $m \geq 2$ and for all nonnegative integers $n$,

$$
\begin{aligned}
\omega_{n}^{(m)}(u)= & \omega_{n}^{(0)}(u)-u_{n}+\sigma_{n}^{(1)}(u) \\
& +\sum_{j=1}^{m-1}(-1)^{j}\binom{m-1}{j}\left(\sigma_{n}^{(j-1)}(u)-2 \sigma_{n}^{(j)}(u)+\sigma_{n}^{(j+1)}(u)\right)
\end{aligned}
$$

where $\binom{m-1}{j}=(m-1)(m-2) \ldots(m-j) / j$ !.
Proof. We establish the proof by the method of induction. For $m=2$, we have

$$
\begin{aligned}
& \omega_{n}^{(2)}(u)=\omega_{n}^{(1)}(u)-\sigma_{n}^{(1)}\left(\omega^{(1)}(u)\right) \\
& \quad=\omega_{n}^{(0)}(u)-\sigma_{n}^{(1)}\left(\omega^{(0)}(u)\right)-\sigma_{n}^{(1)}\left(\omega^{(0)}(u)-\sigma^{(1)}\left(\omega^{(0)}(u)\right)\right) \\
& \quad=\omega_{n}^{(0)}(u)-2 V_{n}^{(0)}(\Delta u)+V_{n}^{(1)}(\Delta u) \\
& \quad=\omega_{n}^{(0)}(u)-u_{n}+\sigma_{n}^{(1)}(u)+\left(-u_{n}+2 \sigma_{n}^{(1)}(u)-\sigma_{n}^{(2)}(u)\right) \\
& \quad=\omega_{n}^{(0)}(u)-u_{n}+\sigma_{n}^{(1)}(u)+\sum_{j=1}^{1}(-1)^{j}\binom{1}{j}\left(\sigma_{n}^{(j-1)}(u)-2 \sigma_{n}^{(j)}(u)+\sigma_{n}^{(j+1)}(u)\right)
\end{aligned}
$$

Assume that the assertion is true for $m=k$. That is,

$$
\begin{align*}
\omega_{n}^{(k)}(u)= & \omega_{n}^{(0)}(u)-u_{n}+\sigma_{n}^{(1)}(u) \\
& +\sum_{j=1}^{k-1}(-1)^{j}\binom{k-1}{j}\left(\sigma_{n}^{(j-1)}(u)-2 \sigma_{n}^{(j)}(u)+\sigma_{n}^{(j+1)}(u)\right) . \tag{2.1}
\end{align*}
$$

We must show that the assertion is true for $m=k+1$. Namely, we establish that

$$
\begin{aligned}
\omega_{n}^{(k+1)}(u)= & \omega_{n}^{(0)}(u)-u_{n}+\sigma_{n}^{(1)}(u) \\
& +\sum_{j=1}^{k}(-1)^{j}\binom{k}{j}\left(\sigma_{n}^{(j-1)}(u)-2 \sigma_{n}^{(j)}(u)+\sigma_{n}^{(j+1)}(u)\right) .
\end{aligned}
$$

By the definition of the general control modulo of $\left(u_{n}\right)$, we get

$$
\begin{equation*}
\omega_{n}^{(k+1)}(u)=\omega_{n}^{(k)}(u)-\sigma_{n}^{(1)}\left(\omega^{(k)}(u)\right) \tag{2.2}
\end{equation*}
$$

By the identity (2.1), we have

$$
\begin{aligned}
\omega_{n}^{(k+1)}(u)= & \omega_{n}^{(0)}(u)-u_{n}+\sigma_{n}^{(1)}(u)-V_{n}^{(0)}(\Delta u)+\sigma_{n}^{(1)}(u)-\sigma_{n}^{(2)}(u) \\
& +\sum_{j=1}^{k-1}(-1)^{j}\binom{k-1}{j}\left(\sigma_{n}^{(j-1)}(u)-2 \sigma_{n}^{(j)}(u)+\sigma_{n}^{(j+1)}(u)\right) \\
& -\sum_{j=1}^{k-1}(-1)^{j}\binom{k-1}{j}\left(\sigma_{n}^{(j)}(u)-2 \sigma_{n}^{(j+1)}(u)+\sigma_{n}^{(j+2)}(u)\right) \\
= & \omega_{n}^{(0)}(u)-u_{n}+\sigma_{n}^{(1)}(u) \\
& +\sum_{j=1}^{k-1}(-1)^{j}\binom{k-1}{j}\left(\sigma_{n}^{(j-1)}(u)-2 \sigma_{n}^{(j)}(u)+\sigma_{n}^{(j+1)}(u)\right) \\
& -\sum_{j=0}^{k-1}(-1)^{j}\binom{k-1}{j}\left(\sigma_{n}^{(j)}(u)-2 \sigma_{n}^{(j+1)}(u)+\sigma_{n}^{(j+2)}(u)\right) .
\end{aligned}
$$

For the last sum on the right-hand side of the last identity, we have

$$
\begin{aligned}
& -\sum_{j=0}^{k-1}(-1)^{j}\binom{k-1}{j}\left(\sigma_{n}^{(j)}(u)-2 \sigma_{n}^{(j+1)}(u)+\sigma_{n}^{(j+2)}(u)\right) \\
& =-\sum_{j=1}^{k}(-1)^{j-1}\binom{k-1}{j-1}\left(\sigma_{n}^{(j-1)}(u)-2 \sigma_{n}^{(j)}(u)+\sigma_{n}^{(j+1)}(u)\right) \\
& =\sum_{j=1}^{k}(-1)^{j}\binom{k-1}{j-1}\left(\sigma_{n}^{(j-1)}(u)-2 \sigma_{n}^{(j)}(u)+\sigma_{n}^{(j+1)}(u)\right) \\
& =\sum_{j=1}^{k-1}(-1)^{j}\binom{k-1}{j-1}\left(\sigma_{n}^{(j-1)}(u)-2 \sigma_{n}^{(j)}(u)+\sigma_{n}^{(j+1)}(u)\right) \\
& \quad+(-1)^{k}\binom{k-1}{k-1}\left(\sigma_{n}^{(k-1)}(u)-2 \sigma_{n}^{(k)}(u)+\sigma_{n}^{(k+1)}(u)\right) .
\end{aligned}
$$

Since $\binom{k-1}{j}+\binom{k-1}{j-1}=\binom{k}{j}$, the identity (2.2) can be written as

$$
\begin{aligned}
\omega_{n}^{(k+1)}(u)= & \omega_{n}^{(0)}(u)-u_{n}+\sigma_{n}^{(1)}(u) \\
& +\sum_{j=1}^{k}(-1)^{j}\binom{k}{j}\left(\sigma_{n}^{(j-1)}(u)-2 \sigma_{n}^{(j)}(u)+\sigma_{n}^{(j+1)}(u)\right) .
\end{aligned}
$$

Thus, we conclude that Lemma 1 is true for each integer $m \geq 2$.

## 3 Main Results

Theorem 3. Let the conditions

$$
\begin{equation*}
\lambda_{n} \omega_{n}^{(0)}(u)=O(1), \quad \lambda_{n} \omega_{n}^{(m)}(u)=O(1) \tag{3.1}
\end{equation*}
$$

and

$$
\begin{equation*}
\lambda_{n}\left(\sigma_{n}^{(j)}(u)-s\right)=O(1) \quad \text { for each integer } j \text { such that } 2 \leq j \leq m \tag{3.2}
\end{equation*}
$$

are satisfied. If $u \in\left((H, 1), m^{\lambda}\right)$, then $u \in m^{\lambda}$.
Proof. From Lemma 1, we have

$$
\begin{aligned}
& \lambda_{n} \omega_{n}^{(m)}(u)=\lambda_{n}\left(\omega_{n}^{(0)}(u)-u_{n}+\sigma_{n}^{(1)}(u)\right. \\
& \left.\quad+\sum_{j=1}^{m-1}(-1)^{j}\binom{m-1}{j}\left(\sigma_{n}^{(j-1)}(u)-2 \sigma_{n}^{(j)}(u)+\sigma_{n}^{(j+1)}(u)\right)\right) \\
& =\lambda_{n}\left(\omega_{n}^{(0)}(u)-\left(u_{n}-s\right)+\left(\sigma_{n}^{(1)}(u)-s\right)\right. \\
& \left.\quad+\sum_{j=1}^{m-1}(-1)^{j}\binom{m-1}{j}\left(\left(\sigma_{n}^{(j-1)}(u)-s\right)-2\left(\sigma_{n}^{(j)}(u)-s\right)+\left(\sigma_{n}^{(j+1)}(u)-s\right)\right)\right)
\end{aligned}
$$

Rewriting the above equation, we have

$$
\begin{aligned}
& \lambda_{n}\left(u_{n}-s\right)=\lambda_{n} \omega_{n}^{(0)}(u)-\lambda_{n} \omega_{n}^{(m)}(u) \\
& \quad+\lambda_{n}\left(\sigma_{n}^{(1)}(u)-s\right)+\lambda_{n} \sum_{j=1}^{m-1}(-1)^{j}\binom{m-1}{j}\left(\sigma_{n}^{(j-1)}(u)-s\right) \\
& \quad-2 \lambda_{n} \sum_{j=1}^{m-1}(-1)^{j}\binom{m-1}{j}\left(\sigma_{n}^{(j)}(u)-s\right)+\lambda_{n} \sum_{j=1}^{m-1}(-1)^{j}\binom{m-1}{j}\left(\sigma_{n}^{(j+1)}(u)-s\right) .
\end{aligned}
$$

Using (3.1) and (3.2) we get

$$
\lambda_{n}\left(u_{n}-s\right)=O(1)+O(1)+O(1)+O(1)+O(1)+O(1)=O(1)
$$

Therefore we obtain $u \in m^{\lambda}$.
Theorem 4. Let the condition

$$
\begin{equation*}
\lambda_{n} V_{n}^{(j)}(\Delta u)=O(1) \quad \text { for each integer } j \text { such that } 0 \leq j \leq k-1 \tag{3.3}
\end{equation*}
$$

be satisfied. If $u \in\left((H, k), m^{\lambda}\right)$, then $u \in m^{\lambda}$.
Proof. Suppose that $u \in\left((H, k), m^{\lambda}\right)$. Taking $j=k-1$ in (3.3), it follows from the identity

$$
\sigma_{n}^{(k-1)}(u)-\sigma_{n}^{(k)}(u)=V_{n}^{(k-1)}(\Delta u),
$$

that

$$
\begin{aligned}
\lambda_{n}\left(\sigma_{n}^{(k-1)}(u)-s\right) & =\lambda_{n}\left(\sigma_{n}^{(k)}(u)-s\right)+\lambda_{n}\left(\sigma_{n}^{(k-1)}(u)-\sigma_{n}^{(k)}(u)\right) \\
& =O(1)+O(1)=O(1)
\end{aligned}
$$

This implies $u \in\left((H, k-1), m^{\lambda}\right)$. Taking $j=k-2$ in (3.3), we get

$$
\begin{aligned}
\lambda_{n}\left(\sigma_{n}^{(k-2)}(u)-s\right) & =\lambda_{n}\left(\sigma_{n}^{(k-2)}(u)-\sigma_{n}^{(k-1)}(u)\right)+\lambda_{n}\left(\sigma_{n}^{(k-1)}(u)-s\right) \\
& =O(1)+O(1)=O(1)
\end{aligned}
$$

from the identity

$$
\sigma_{n}^{(k-2)}(u)-\sigma_{n}^{(k-1)}(u)=V_{n}^{(k-2)}(\Delta u) .
$$

Hence we have $u \in\left((H, k-2), m^{\lambda}\right)$. Continuing in this way, we obtain that $u \in\left((H, 1), m^{\lambda}\right)$. Taking $j=0$ in (3.3), we get $\lambda_{n}\left(u_{n}-\sigma_{n}^{(1)}(u)\right)=O(1)$ from the Kronecker identity. Thus we have

$$
\lambda_{n}\left(u_{n}-s\right)=\lambda_{n}\left(u_{n}-\sigma_{n}^{(1)}(u)\right)+\lambda_{n}\left(\sigma_{n}^{(1)}(u)-s\right)=O(1)+O(1)=O(1)
$$

This completes the proof.
Theorem 5. Let the condition

$$
\begin{equation*}
\lambda_{n} \omega_{n}^{(j)}=O(1) \quad \text { for each integer } j \text { such that } 0 \leq j \leq k \tag{3.4}
\end{equation*}
$$

be satisfied. If $u \in\left((H, k), m^{\lambda}\right)$, then $u \in m^{\lambda}$.
Proof. By the definition of the general control modulo order 1 of $\left(u_{n}\right)$, it follows

$$
\lambda_{n} \omega_{n}^{(1)}(u)=\lambda_{n} \omega_{n}^{(0)}(u)-\lambda_{n} \sigma_{n}^{(1)}\left(\omega^{(0)}(u)\right)=\lambda_{n} \omega_{n}^{(0)}(u)-\lambda_{n} V_{n}^{(0)}(\Delta u)
$$

Taking $j=0$ and $j=1$ in (3.4), we get $\lambda_{n} V_{n}^{(0)}(\Delta u)=O(1)$. From the definition of the general control modulo order 2 of $\left(u_{n}\right)$, we obtain

$$
\lambda_{n} \omega_{n}^{(2)}(u)=\lambda_{n} \omega_{n}^{(1)}(u)-\lambda_{n} \sigma_{n}^{(1)}\left(\omega^{(1)}(u)\right) .
$$

Taking $j=0$ and $j=2$ in (3.4), we obtain $\lambda_{n} V_{n}^{(1)}(\Delta u)=O(1)$. Continuing in this way, by Lemma 1 , we obtain

$$
\begin{aligned}
& \lambda_{n} \omega_{n}^{(k)}(u)=\lambda_{n}\left(\omega_{n}^{(0)}(u)-u_{n}+\sigma_{n}^{(1)}(u)\right. \\
& \left.\quad+\sum_{j=1}^{k-1}(-1)^{j}\binom{k-1}{j}\left(\sigma_{n}^{(j-1)}(u)-2 \sigma_{n}^{(j)}(u)+\sigma_{n}^{(j+1)}(u)\right)\right) \\
& =\lambda_{n} \omega_{n}^{(0)}(u)-\lambda_{n} V_{n}^{(0)}(\Delta u) \\
& \quad+\lambda_{n} \sum_{j=1}^{k-1}(-1)^{j}\binom{k-1}{j}\left(\left(\sigma_{n}^{(j-1)}(u)-\sigma_{n}^{(j)}(u)\right)-\left(\sigma_{n}^{(j)}(u)-\sigma_{n}^{(j+1)}(u)\right)\right) .
\end{aligned}
$$

From the last identity, we get

$$
\begin{aligned}
\lambda_{n} \omega_{n}^{(k)}(u)= & \lambda_{n} \omega_{n}^{(0)}(u)-\lambda_{n} V_{n}^{(0)}(\Delta u)+\lambda_{n}\left(\sum_{j=1}^{k-1}(-1)^{j}\binom{k-1}{j} V_{n}^{(j-1)}(\Delta u)\right) \\
& -\lambda_{n}\left(\sum_{j=1}^{k-1}(-1)^{j}\binom{k-1}{j} V_{n}^{(j)}(\Delta u)\right) .
\end{aligned}
$$

If taking $j=0,1, \ldots, k$ in (3.4), we obtain $\lambda_{n} V_{n}^{(k-1)}(\Delta u)=O(1)$. The conditions in Theorem 4 holds. Hence the proof is completed.

## Acknowledgments

The author is grateful to the anonymous referees who have made invaluable suggestions that helped to improve this paper.

## References

[1] İ. Çanak. A short proof of the generalized Littlewood Tauberian theorem. Appl. Math. Lett., 23(7):818-820, 2010. http://dx.doi.org/10.1016/j.aml.2010.03.017.
[2] İ. Çanak. On $(c, 1)$ means of sequences. Comput. Math. Appl., 61(9):3446-3448, 2011. http://dx.doi.org/10.1016/j.camwa.2011.08.060.
[3] İ. Çanak. A theorem for convergence of generator sequences. Comput. Math. Appl., 61(2):408-411, 2011. http://dx.doi.org/10.1016/j.camwa.2010.11.017.
[4] İ. Çanak. A theorem on the Cesaro summability method. Comput. Math. Appl., 61(4):1162-1166, 2011. http://dx.doi.org/10.1016/j.camwa.2010.12.065.
[5] İ. Çanak. On the Riesz mean of sequences of fuzzy real numbers. J. Intell. Fuzzy Systems, 26:2685-2688, 2014.
[6] İ. Ceanak and M. Dik. Some conditions under which subsequential convergence follows from boundedness. Appl. Math. Lett., 21(9):957-960, 2008. http://dx.doi.org/10.1016/j.aml.2007.10.009.
[7] İ. Çanak and Ü. Totur. Some conditions for subsequential convergence and ordinary convergence. J. Comput. Anal. Appl., 14(3):466-474, 2012.
[8] İ. Çanak and Ü. Totur. Some Tauberian conditions for Cesàro summability method. Math. Slovaca, 62(2):271-280, 2012. http://dx.doi.org/10.2478/s12175-012-0008-y.
[9] M. Dik. Tauberian theorems for sequences with moderately oscillatory control moduli. Math. Morav., 5:57-94, 2001.
[10] M. Dik İ. Çanak and F. Dik. Conditions for convergence and subsequential convergence. Appl. Math. Lett., 19(10):1042-1045, 2006.
http://dx.doi.org/10.1016/j.aml.2005.11.015.
[11] G. Kangro. Summability factors of Bohr-Hardy type for a given rate. I, II. Eesti NSV Tead. Akad. Toimetised Füüs.-Mat., 18:137-146, 387-395. (loose errata), 1969.
[12] O. Meronen and I. Tammeraid. Generalized Nörlund method and convergence acceleration. Math. Model. Anal., 12(2):195-204, 2007.
http://dx.doi.org/10.3846/1392-6292.2007.12.195-204.
[13] O. Meronen and I. Tammeraid. Generalized linear methods and gap Tauberian remainder theorems. Math. Model. Anal., 13(2):223-232, 2008.
http://dx.doi.org/10.3846/1392-6292.2008.13.223-232.
[14] O. Meronen and I. Tammeraid. Several theorems on $\lambda$-summable series. Math. Model. Anal., 15(1):97-102, 2010.
http://dx.doi.org/10.3846/1392-6292.2010.15.97-102.
[15] O. Meronen and I. Tammeraid. General control modulo and Tauberian remainder theorems for ( $C, 1$ ) summability. Math. Model. Anal., 18(1):97-102, 2013. http://dx.doi.org/10.3846/13926292.2013.758674.
[16] S.A. Sezer and İ. Çanak. Tauberian remainder theorems for the weighted mean method of summability. Math. Model. Anal., 19(2):275-280, 2014. http://dx.doi.org/10.3846/13926292.2014.910280.
[17] I. Tammeraid. Tauberian theorems with a remainder term for the Cesàro and Hölder summability methods. Tartu Riikl. Ül. Toimetised, 277:161-170, 1971.
[18] I. Tammeraid. Tauberian theorems with a remainder term for the Euler-Knopp summability method. Tartu Riikl. Ül. Toimetised, 277:171-182, 1971.
[19] I. Tammeraid. Two Tauberian remainder theorems for the Cesàro method of summability. Proc. Estonian Acad. Sci. Phys. Math., 49(4):225-232, 2000.
[20] Ü. Totur and M. Dik. One-sided Tauberian conditions for a general summability method. Math. Comput. Modelling, 54(11-12):2639-2644, 2011. http://dx.doi.org/10.1016/j.mcm.2011.06.041.
[21] B.C. Tripathy and A. Baruah. Nörlund and Riesz mean of sequences of fuzzy real numbers. Appl. Math. Lett., 23(5):651-655, 2010.

